uciaHU_LZnH4T 1

alphal3_4eX1X

0.8

0.6

0.4

0.2

0.06

alphal3_4eX1X:cyclenum {run == 8303}

111051105.511061106.911071107.511081108.5XT09

cyclenum

delta46_12X4eY:cyclenum {run == 8303}

111051105.511061106.5.

71107.5Y1081108.51109

cyclenum

0.25

AIPNA4O_4e Y 4d Y

0.2

0.15

0.1

0.05

o

8305

3304.5

8304

3303.5

8303

3302.5

8302

3301.5

8301

alpha46_4eY4aY:cyclenum {run == 8303}

111051105.511061106.971071107.5:

81108.51109
cyclenum

run:cyclenum {run == 8303}

111051105.511061106.911071107.511081108.51109
cyclenum

segment

-2

25

15

05

deltal3_12X4eX:cyclenum {run == 8303}

111051105.511061106.411071107.511081108.51109
cyclenum

segment:cyclenum {run == 8303}

AL L |
v
H

e
- ......*...............;....... [

111051105.511061106.411071107.511081108.51109
cyclenum




usl_4eY

12

10

usl_1X:cyclenum {run == 8303}

AKX

k

vl b b b bevs b e b
111051105.511061106.911071107.511081108.51109
cyclenum

usl_4eY:cyclenum {run == 8303}

111051105.511061106.871071107.5Y1081108.51109
cyclenum

[

o

usl_4aY:cyclenum {run == 8303}

111051105 .51%5%51106.5% *%IllOTEiI %%81108.51*;9

cyclenum

usl_12X:cyclenum {run == 8303}

-

111051105.511061106.911071107.511081108.51109
cyclenum

12

usl_4eX

10

8305

3304.5

8304

3303.5

8303

3302.5

8302

3301.5

8301

usl_4eX:cyclenum {run == 8303}

111051105.511061106.871071107.571081108.51109
cyclenum
run:cyclenum {run == 8303}

111051105.511061106.411071107.511081108.51109
cyclenum




o

-100

-120

usr_4deY

14

12

10

usr_1X:cyclenum {run == 8303}

AKX

k

I
N
H
H

ol b b b b b b e be
111051105.511061106.911071107.511081108.51109
cyclenum

usr_4eY:cyclenum {run == 8303}

0 m@%@uﬂ%
111051105.511061106.871071107.571081108.51T09

cyclenum

usr_12X

usr_4ay

I
-

usr_4aY:cyclenum {run == 8303}

KT KX

k

111051105.511061106.911071107.511081108.51109
cyclenum

usr_12X:cyclenum {run == 8303}

- i
oloobedo o byu b lo o b lon b,

111051105.511061106.911071107.511081108.51109
cyclenum

usr_4eX

120

100

80

60

40

20

8305

3304.5

8304

3303.5

8303

3302.5

8302

3301.5

8301

usr_4eX:cyclenum {run == 8303}

0 HMM%
111051105.511061106.871071107.511081108.51109

cyclenum

run:cyclenum {run == 8303}

111051105.511061106.411071107.511081108.51109
cyclenum



18000
16000 F
14000
12000 F

10000

8000

6000

4000

2000

-500

-1000

-1500

—-2000

-2500

-3000

usl_coill:cyclenum {run == 8303}

111051105.5:

61106.811071107.511081108.51109
cyclenum

usl_caoil6:cyclenum {run == 8303}

K

111051105.511061106.411071107.511081108.51109
cyclenum

usl_coil3:cyclenum {run == 8303}

‘2500:—
20005—
15005—--f----5. ........................
10005— : .
SOOE— - - - -
cyclenum
usl_coil7:cyclenum {run == 8303}
3500 _PK ----------------------------------

1500

1000

500

0 w%m%m%g
111051105.511061106.871071107.571081108.51709

cyclenum

16000

5000

4000

3000

2000

1000

8305

3304.5

8304

3303.5

8303

3302.5

8302

3301.5

8301

usl_coil4:cyclenum {run == 8303}

0 wm%mm#
111051105.511061106.871071107.511081108.51109

cyclenum

run:cyclenum {run == 8303}

111051105.511061106.411071107.511081108.51109
cyclenum



o

—-2000

—-4000

-6000

-8000

10000

12000

14000

16000

-500

-1000

-1500

—-2000

-2500

-3000

usr_coill:cyclenum {run == 8303}

NEETRIFRETE FRRTI RRRR1 ARRTH RART1 FAT)
111051105.511061106.911071107.511081108.51109
cyclenum

usr_coil6:cyclenum {run == 8303}

K

111051105.511061106.411071107.511081108.51109
cyclenum

-500

-1000

-1500

—-2000

-2500

35000

30000

25000

20000

15000

10000

5000

usr_coil3:cyclenum {run == 8303}

T

;
.
.

L L L vl
111051105.511061106.911071107.511081108.51109
cyclenum

usr_coil7:cyclenum {run == 8303}

0 w%m%m%g
111051105.511061106.871071107.571081108.51709

cyclenum

- 6000

2 5000
4000
3000
2000

1000

8305
3304.5
8304
3303.5
8303
3302.5
8302

3301.5

8301

usr_coil4:cyclenum {run == 8303}

0 wm%mm#
111051105.511061106.871071107.511081108.51109

cyclenum

run:cyclenum {run == 8303}

111051105.511061106.411071107.511081108.51109
cyclenum



1 0
3
|
i-20

-40

-60

-80
-100
-120
-140

i 0
3
{
}

-50
-100
-150
-200

-250

1X_coill:cyclenum {run == 8303}

-III 1aaalay bty ta sl taaalaig
111051105.511061106.511071107.511081108.51109
cyclenum
4eX_coill:cyclenum {run == 8303}

T

111051105.511061106.411071107.511081108.51109
cyclenum

1X_coil3:cyclenum {run == 8303}

0 Mmmmm%*
111051105.511061106.911071107.511081108.51709

cyclenum

4eX_coil3:cyclenum {run == 8303}

4eX_coil3
&

B T S S R A

-15

!

N

=]
T

-25

_____ X

ol P I A RN R i

111051105.511061106.911071107.511081108.51109
cyclenum

1X_coil7

4eX_coil7

1X_coil7:cyclenum {run == 8303}

100

50

N
a
o

T T T T

200

150

100

50

111051105.511061106.971071107.5

81108.51109
cyclenum

4eX_coil7:cyclenum {run == 8303}

TT T T T T
-
-

TT T T T TTT
-
-

111051105.511061106.5.

71107.5:

81108.51109
cyclenum




yclenum {run == 8303}

4aY_coil7:c

yclenum {run == 8303}

4aY_coilé:c

yclenum {run == 8303}

4aY_coild:c

111051105.511061106.811071107.511081108.51109

L1109” AeY

111051105.511061106.911071107.511081108.51109

71107.511081108.5:

111051105.511061106.9.

1100~ At

cyclenum

cyclenum

cyclenum

yclenum {run == 8303}

4eY_coil7:c

yclenum {run == 8303}

4eY_coilé:c

yclenum {run == 8303}

4eY_coild:c

L1109 A8y

PP YT IV FUTTR IYRTY STTL FETTY PV Y FIVTE OUTE I

e

111051105.511061106.911071107.511081108.51109

-100}---

1100~ At

111051105.511061106.811071107.511081108.51109

71107.511081108.5:

111051105.511061106.5.

cyclenum

cyclenum

cyclenum



o

-100

-150

-200

-250

12X_coil6

12X_coill:cyclenum {run == 8303}
* oo :.E

X kX

111051105.511061106.911071107.511081108.51109
cyclenum

12X_coil6:cyclenum {run == 8303}

0 mwumw—%—“—
111051105.511061106.811071107.571081108.5XT09

cyclenum

Len_vuni

12X_coil3

-100

-200

-300

-400

-500

12X_coil3:cyclenum {run == 8303}

'TRT RETTE FRRTI ARRR1 ARTEA RIUT] FRRRL IRUTY AT
111051105.511061106.911071107.511081108.51109
cyclenum

12X_coil7:cyclenum {run == 8303}

T
H

111051105.511061106.911071107.511081108.51109
cyclenum

12X_coild
=
N

8305

3304.5

8304

3303.5

8303

3302.5

8302

3301.5

8301

12X_coil4:cyclenum {run == 8303}

(AT RERTI AR ARETY FRRTE RRAT IAT)
111051105.511061106.411071107.511081108.51109
cyclenum

run:cyclenum {run == 8303}

111051105.511061106.411071107.511081108.51109
cyclenum
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